Efficiency vs Dxy(PV)
E 0.1E T T - -
X0.09F--i---:
3 E
»0.08F-
>
20.07F--
5]
'50.06F--
g
©0.05F--
0.04f--
0.03F--

0.02F--

0.01F--i---;

,_
o

: el 7 :
=25-20-15-10 -5 O 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_newBASE3
—e— DQM_mkFit_new

[Efficienc] —— DQM_mkFit_newANDPL

ﬁ |

TR

—1—08—06—04020 0.20 0608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
< 0.

L

°%0 20 -10 0 10 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 0.0

g F: : : : :
R0.00F- -+ -- -4 S ALTETEY FEPEPRRE b
S E : : : :

Q0.08f 7w e rerre s e

oy E . . . .
L i A
o E . . . . .
S0.06F- et PR TPy SECCTTRE LYY "PRRE O
S F: : : : :
L A

2‘2‘;?:3":::'"':'::::::::::::":::::!5:
4{#*%*#* """ +‘+ }% 1[+F

0.0

0.5
TP dz(PV) (cm)

......................

Ratio




	Contents
	Page 1


